CSS AE|C| 45k}

e border1

e border-radius 1

o do| Z== IHSAICL



border 1

o H|F2[ M
e eX) border: 4px solid black;

e border: size style color;

e border-left, top, right, bottom



border-style

¢ None
e dotted: ™

o dashed: X{0{0{0{
o solid: &M

o double: &M 274

https://www.w3schools.com/css/tryit.asp?filename=trycss_border-
style


https://www.w3schools.com/css/tryit.asp?filename=trycss_border-style

border

top border
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bottom border

if only one border has color
and the rest are transparent



border-radius 1

o S element?| TS| EIX|ES H = U=
e border-radius: 50%;

o top-left: 50%, top-right: 50%

o bottom-right: 50%, bottom-left: 50%
e border-radius: 50% Opx;

o top-left: 50%, top-right: Opx

o bottom-right: 50%, bottom-left: Opx
e border-radius: 50% Opx 30%;

o top-left: 50%, top-right: Opx

o bottom-right: 30%, bottom-left: Opx
e border-radius: 50% Opx 30% 20%;

o top-left: 50%, top-right: Opx

o bottom-right: 30%, bottom-left: 20%
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border-radius 1



border-radius 1

e border-radius: horizontal / vertical;
BORDER-RADIUS EXPLAINED

20px 30px
50px 60px
HORIZONTAL VERTICAL
border-radius: 20px 30px 40px 50px / 50px 60px 70px 80px
E top left top right :Jighttom ltéof;ctom top left top right ﬁgﬁt{am It.;%ttom .
80px 70px
g “ap

https://codepen.io/laviperchik/pen/mAHWE


https://codepen.io/laviperchik/pen/mAHwE

border-radius 1

o XtAAR HE: border-radius: 5px;

o 2: border-radius: 50%;

21H|: border-radius: 100% Opx;

o =HZF: border-radius: 50% / 40% 40% 60% 60%;
H

3H2l: border-radius: 50% / 100% 100% Opx OpX;

https://codepen.io/daybrush/pen/geomYR


https://codepen.io/daybrush/pen/geomYR
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e border-radius 2

e overflow

o M| Z2 ZVHE IS AICE.



overflow

HtAOFO| ZHEl| X 7} b

AHCHAHE [ Lo{LI= sAMES £402 F

e visible(default): EX|A H=Ct

e auto: AIE0| XIZO=Z M7ICY,

e scroll: ZAEI=7}

e hidden: EXx|=
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border-radius 2



